Answer ALL questions.
Write your answers in the spaces provided. \

You must write down all the stages in your working. ;

The diagram shows the position of a lighthouse L and a harbour H.
N

?

/tgcw'?b of

H'ror"\L-

N

The scale of the diagram is 1 cm represents 5 km.
(@) Work out the real distance between L and H.
&+ Serm
X S

@

(b) Measure the bearing of H from L

—=
........................ 1D,
A
A boat B is 20 km from Hona bearing of 040°.
(c) On the diagram, mark the position of boat B with a cross (*).
Label it B.

Nekm = S = Lo @)

(Total for Question 1 is 4 marks)
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2. Sbﬁn.r t Salk
the ratio 3 : 2

grams.

A mlxlme of sugar and salt i iﬁ
© Weight of the mixture is 150

(8) Calculate the weight of sugar and the weight of salt in the mixture.

309 3o Jos 04 - JC
S [Ser[o[su s |
2 lsoérms >

|So =+ S = 30

Sepmyer = 3= 309

= QO:-D
‘ So_bt 3 Sugar ................ q Qg
= 2R 3o
= iy ©)
30 grams of sugar and 10 grams of salt are added to the mixture.
(b) Calculate the ratio of sugar to salt in the new mixture.
Sysgor O + 3oe = [20 &
- &)
Sebe Gog 4+ 10sy = 79O
e Susgor L Selt
120 @ 7O RSN fe 3
iae =10
=<1 L 2 @)
12 I3

N = —~f- 9 "' Y (‘_‘k‘-
Motk s heme  astes '(@ : LL\“ ' J ;
bt we .rgkl\/u ™ ()r'\i‘.‘;\.‘\\(’" Aol el

- ek

,L\'\(S Clear™— veyembe, these @re ":;v et
/Pt'v’ft‘ 3 ond hove ot bea, AL lltu Checks -

J
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A=22x3x52
B=23x5

(a) Find the Highest Common Factor (HCF) of 4 and B.

A=-2x2x3IXSxS
R - 25 x 2 =S
HCF = 2x2L xS

= 20

..........................................................

(b) Find the Lowest Common Multiple (LCM) of 4 and B.

LCN = 26 X3RS K 2
Nels

.....................................
......................

(Total for Question 3 is 3 marks)

Ve @Tt:)’&'ﬁ Mesthedl
o :
pCT
=2%r2xT

= 28
20 R %
L.Ctvy & 3~3 % °
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. - X
4. x Here are the ages, in years, of 15 women at West Ribble Tennis Club. Ligses
16, 18, 18, 25, 25, 21, 30, 35, 38, 45, 46, 50
(a) On the grid, draw a box plot for this information.
A

0 10 20 30 40 50 60
age (years)
@ 3)

The box plot below shows the distribution of the ages of the men at West Ribble Tennis Club.

A
€ i
.t : HHrHH mu i H o
0 10 20 30 40 50 60
age (years)
? (b) Use the box plots to compare the distributions of the ages of these women and the

distributions of the ages of these men. o e e nieec
Covare  TOTER
e  Comtext- @)

(Total for Question 4 is 5 marks)

e The Medica = a‘F Mmen o oedt Wibble Terwas Cluds
s 3b c,ov-\,‘:o./cp\ Ot e medlan C’QQ af (WDamen
=k QL% Thy ®haus et o g the ™Men ot
Wesr Wibble Tennts Club are older thax the women

e T1he :I:‘n‘ke,/ﬂ,w%‘t rou-t)g °»F te a@&.& of o rmen S
QWDV Hran~ the T—are o-F‘de ctbe.s c‘F men . | TS
shaus et Hhere 185 o orede- vaSation gF oi.}:.s S
Wonen~ of st JEbble Tean® Cluk than vmen.
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IS G

i

1
i

B
e S
e (|

Enlarge shape S with scale factor -;— and centre (1, 3).

(Total for Question 5 is 2 marks)

Given that, for all values of x,

63 + T2 — 56x + 48 = (2x% +

find the value of £.

hx — 12)(?x —4), where k is a constant,

_ .
o A 565 08 = b IR G5 s

2 -
x4 Fx = S6X TeE = X + (Bk—8)ax *+ (~4k =36 )X +4%¥

2
Comporineg Coefficdie~ts of T

av e Cowld have COM’\)O.recJ
CQQ—'FB_C“Q'\B O‘F =<

- s6=- —4f4k~—-36

S= K

E— 34
[

+ = 3k-& [+%
IS = 3K =3
S = K

--------------- Beevwsessnsansravonsesantousuncsncensonen

(Total for Question 6 is 2 marks)

Edexcel GCSE Mathematics (9-1) Practice Tests Set 7: Paper 3H — Spring 2018



6\'\&4—1::1 I rea

Civele

Diagram NOT
accurately drawn

T ﬁ"tm
Gﬁ_w:vz (

D B Aree Sﬁ’_\AWQ
=4 % E;
= L T %
Arree Cicle
=TI ¢ %
4, B, C and D are points on a circle. Siad Hhe
ABCD is a square of side 7 cm. ncj :: ﬁ
r oo
Work out the total area of the shaded regions.
Give your answer correct to the nearest whole number.
DR 73 the doanmete of the drcke
g Ao oy’ thearem
ft DB iy B3y
2 z
DR =3 +73
= Iy
DR = Aas
= A4z
D~ = F42Z
radiws = EE._
2
;A
Avrea ele = | 2
- e
— 4 g 4
(S\'\ cched lrea = 73 ) QZ ...... cm?
= 2396 ‘125 (Total for Question 7 is S marks)
= 2¥crm

(+n nearest cihale Numloe)
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Danielle invested £2800 for » years in a savings account.
She was paid 2.5% per annum compound interest.
The interest is paid into the account at the end of each year.

At the end of n years, the amount of money in the savings account is greater than £3000 for
the first time.

Work out the value of n. _ =
[OO°/. & - 5% = 16 2 =S /. = |-

£2%00 x (1-025)" > £3000 n =

1g¢0 0 x 1-02S" > 3000

KD 'CY;O-Q eu-c\ 'lm?fov't\r“\:_-:\- = ’F\\“A e
<

3
3 Sg00 %X |-02S = £3015-29335
=

tr@ - s San nFGLE*" 3 F2al-43

5 2961 35
o - 2_ <carS 'D:;cﬂ--e,\\-c o &‘.e
i:';/ 3 SM &'—Gd\t IR 01630|S.. 7]

(Total for Question 8 is 3 marks)
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9, .
n 1S an Integer greater thap |
Prove algeh
8ebraically that 72 — 5 _ (n~2)* is always an even number

Z-Q-—[(n—l)ﬁh-l)]
_1 [n -1in - Zh-l-te-]

I

-

3.1_.[n —um-+4]

"Kﬁy:zkﬂd‘+%wzip

l

9 (9 -3 ) 2% o facker asd
— / ‘dﬁ(’&{‘c}f‘- "t_\"\k_

Qx’\)rQsS|Qv\ D oA
even "uwndoa -

(Total for Question 9 is 2 marks)

10. Make e the subject of k= 5m3+ 2 [5 (1\,&&/1
e

2
- kK*'=Srm+l= [x3Q
-

ek = St e [-2e
Erﬁxc_‘l“o/?s‘
[ = (3x*-2)

3@ kq‘,_ ')_e_ = Sr
9_(3{'{2-— '2.) =S
e —_ SY"’\
Ik L

.......................................................

(Total for Question 10 is 4 marks)
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\

; i nx= Oandx 1 e e \
11. (a) Show thattheequation x°+4x=1 hasasolution betwee w —. X\
-I-3+ L\—& g I — O NG e se . 1 C‘F”" L T 2en I\
- // e WaVS N Lt otC ” "”iJ-" l TL\;’ \
- '.\ el Cvels o
X =0 ()3+6(e) =1 =~} )c T e St
3 _ A p—
X =\ () re()-1 = &«
s Ces betvvea,
chanc, e cF St@ there ’Fﬁfg 5°lt~h (=l Q,.e.
J )
= e Xo= A | g
(b) Show that the equation x* +4x=1 can be arranged to give iy
notvce taat U3 X hay bean
Macle +the @-Sw .
3 3 »
1 o=\ R [— x (
(WX :.-l—JLl C-4 .
Y4 G @
3
(c) Starting with x, =0, use the iteration formula  x,, =.}I_ x:; twice,
to find an estimate for the solution of x> + 4x=1
Xm0
2 c>3
I 4 L G

G e L = ¢
/ or we ANS b s X, os~d A=
| caled echsr — ec}_u-—Q Ccavvrect ‘
9 o — = Q_GF |
— 3 |
=N ANS
=5 J s Q25
¥ €)
— (Total for Question 11 is 6 marks)
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Cost in
dollars (8)

A 2

0.5 I L5 2 25 3
Distance (km)

The graph gives information about the costs of taxi journeys of different distances.
The cost of a taxi journey consists of a fixed initial charge and a charge per km.»

(a) Give an interpretation of the intercept of the graph on the y-axis. [
‘A tihemn O K B +rovelled e , |
cest 15 Fa-&o

(b) Give an interpretation of the gradient of the graph.
the oarount the cost ﬁn@

(risg) ev
‘;(—PW 'tfmdﬁr (’llt:r:b)

(Total for Question 12 is 2 marks)
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4 x-2
13. f(x)=—— ==
FR=— 8(x)=—
(@) Express the inverse function f ! in the form f 7!(x) = e
p— Lr . M\“‘(”“\\\
»QC:‘_ Cj - T ( |’\CJ{"<<‘ ’\'\_
XL~ 3 D e— . \r N
S - "Lng —[w.,cf\g,\\@‘-’\ elinine \/
T . — Metha doesnf e K
‘Vawq? ,1 Ckr -’ J \ / g:-t\?>,l,§ch<.‘c, so we H-3 \\
X = G /\.. \("\(;r‘r\xﬁrk ; ’j«/
@ -2 \w, —
(‘e_aurrou—\og—to medtg 7 :3 't'_\—\c SL\\-;:) ect l
I(d - 3) = 4
JL:) —3% = 4. C
3y = 4+ 3X
& = o+ 33X +3x
ol flx) =.......... DS e
) Solve  fa(a)=1 ®)
You must show your working. Selve ‘F@C“) = |
361):'1' —= o3 = | ot —3
fo q—‘)_ == ’3 >
5(&): a—Z L;.:a-l"B ]:4_3
o , o
. " g = o~ Exq
£ [3@3] = | [ = = ‘
i Fa =a—2 N
\ L‘.. Go.= — 2 t? &
¥ T ~=-2
-
; g
g/"/ X = 3
-
7 T SO
‘ 3)

(Total for Question 13 is 6 marks)
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14. Here is a solid bar made of metal. A
The bar is in the shape of a cuboid. [
The height of the bar is # cm. Ve u.m—;
The base of the bar is a square of side d em. = ;’\d
hem
The mass of the bar is M kg.
d = 8.3 correct to 1 decimal place. us<e
M= 13.91 correct to 2 decimal places. -l KB
- v dcm
h = 84 correct to the nearest whole number. . e
dcm
Find the value of the densxty of the metal to an appropnate degree of accuracy /, L
Give your answer in g/lem®. [ .. o ouncd wPr o VAV \
@ You must explain why your answer ic t'o an apﬁmpriate degree of accuracy.
- g,z ‘[{-’3 S"L" 8.255&48‘35-
d/ [ )
& L
£-25 E-J
3-92
e 13-9° Ve = ‘g [R-T10S & M < 13-91S
L————;I\i /IT\_ convet “+= fmsg - <
| 3-%0S { 3NS (3Tos = < 1
@ %3 T4 ®S $3.5 & h < 65
7N A
%35 =65 -
B Qo bownd Veluwmae 2
‘De,,sl;j mess (= Lower |, XQL;WQOL
! f . b o wiel @
T T i s . w3 < (525)
bound . Lowes “owrs ; e 2
Lover 5’.13 - o — ( = 75@8’3 2!8":}3‘ 1
,'_3‘:1'05- K e e L’*PP'V lbowed Valw 2
= A3 TS "3 ‘
SE. S5 125 <7 s\ o=eepr o2 (BETT S
= 2-”36(3\‘57_‘:'"".3/(“ ( loow 2

{ ??4_, bou—d ap p~ Louwnd &3S

g - S-S 31 25
,D&sda -QDW bOW-\d Vo lw - ~— A S —
= 13 B s . .
5 683 2 5 o ? (Total for Question 14 is S marks)

3

—

= 2.t F Q3 = o

Jer

cormct £o ldp . TTherefore ﬁéi‘ns'rb = Q‘Ll—a ‘/m3 (ld}:‘)
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1S.

A-B:.C
60 apples are shared between Abbie, Betty and Carol in the ratios 1 : 3 : x, where x > 3.

The number of apples in Carol’s share is 18 more than the number of apples in Betty’s share.

Find the value of x.
. y | ‘
Abbie  [A] <1
R B|B|B | RIBIB | "TP<
Corol w8z | B|B|B) (2+-3= @
Silg=s Abiis. ha € apples
dnha has [ ap
c B@, anl b 1%&\8’:36'=?P’<>5
AR
&t 18 3L _ £
6 st LA X (Ttlf ..... thss4marks) (
otal 1or Question ) ¢
. 316
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Ali has two solid cones made from the same type of metal.

Diagram NOT accurately
drawn

— «
80 cm X2 160 em

A B

The two solid cones are mathematically similar.’
@ The base of cone A is a circle with diameter 80 cm.
The base of cone B is a circle with diameter 160 cm.
Al uses 80 m/ of paint to paint cone A. Ali will be

ound -
Ali is going to paint cone B.

Surface Ares of e 18

(a) Work out how much paint, in m/, he will need.
-SCOJ-L TFoctor °’F l-t.‘—cj en AKX = 12
Scele Tactor of ovea K 2"= &4

Alc onll need _ &~
gomi < L+. e~ tieseescecacecccacenes 8.& ........ ml

e The volume of cone A is 171 700 cm’.
(b) Work out the volume of cone B.

Sc<le @dor of velume k2 2 = =

Vo lume G‘F Contpf P <
|31 00 R &

\f@\me d‘F conc 13 =

1

(Total for Question 16 is 5 marks)
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1 G2y B Diagram NOT
accurately drawn

Lb

D > -
Ko~ Lo
AB 1s parallel to DC
|pc=248
M is the midpoint of BC

[Eal <‘
]

9
(@) Find BMin terms of a and b.

Give your answer in its simplest form. s -
_ > == - B = = BC
RC.= BA +AD + DL tm == L)
=—La+t2b + &= =4 (Lo +22
e l.g_& <+ 3_;‘:3 = :l&..}...b ..............................

N is the point such that DCN is a straight line and DC: CN=2: 1

PN
N\

(b) Show that AMN is a straight line.
I = —

. sl W% A ZaR +F8BM
1('*.(, Sa o Lo - 6o 4+ ‘En .
— . = P nr —Q ’—:
AN = AD + DE +CR

7 —= -—
?f_—‘/\g = A AM od theetovs 'ﬁ/\'}—:‘aoidﬁm
are PO G—H«;.Q\-%n% beth ."P o3 ‘&L\VOO %))
— — Corminen pe ‘(I‘otal for Question 17 is 4 marks)
Sinte A and AN are ?w«l\ﬁ-Q ol I.Po_ss Hraus\ N
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18. In tl}e diagram, DAPS and CBQR are straight lines.
AB is parallel to QP and DC is parallel to RS.
AD=11cm, BC=5cm, PS=27.5 cm and RS = 42.5 cm.

425 c¢m

Quadrilateral ABCD is similar to quadrilateral PORS.

(a) Work out the length of RQ. i i
e o i< e Co(/\-_;,?a\f\o\"\\:) sides AD ord 3

o find the Scale forcdor
= .‘2 S

;2'3r S -—H

oncls ,{-_‘ ‘Sldt B C

'/,,_/
R c_orruf?
Ra=SX 25 1L

)
(b) Work out the length of CD.
D Corrt.s?ano\b to Slde S
. %

l{,.jl'k of D o

..............................................

@)

(Total for Question 18 is 4 marks)
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19.

The diagram shows a solid hemisphere. Surface area of a sphere = 477 2

4 3
Volume of a sphere = 3 zr

The hemisphere has a total surface area of 1—36-71: cm?

The hemisphere has a volume of krz cm?

Find the value of k. Hhe slhaded
Surfoce Area of lf\eerS)p\ﬂU& gaf®  EERFTCR i
' chircle
= -'i- Surfoce fhrea of 8»})‘;&/«: + ores Circle (
= Ji. X LTTrSs 4+ Ty ’
- 22 Ty
= TMr*
2 6 - =1
therefare 3Tr = L
3
= R
Ber* =12 [+
3
e o= IS LA
q
- L - - oy
{‘ - 3 P - Y o (

Veluwme F ‘ﬁe"“""s’?"‘t—’l
- Jé._ Vo luwre a‘F S‘P\"tfe'

L 3

3
e Volume = J(,H’— A

s ‘k 1 2
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20. ABCis a triangle.

Diagram NOT
accurately drawn

AC=84m
Angle ACB = 40°

The area of the triangle = 100 m2.

Work out the length of 4B.
Give your answer correct to 3 significant figures.
You must show all your working,

D 4 of Brog = £ AbSNC

o
g :Jé_xc\x?[_{_xSIhL\-
2-

Nl-—

oo = 6 Fot96] o~ _
e i Ol lol
3F0L. = = Aergt™ f BC=3%

~ch
MNow we Con ude He Qo,sd °5\n¢ rule —&c rE.

———

e ic.ﬁ—!—-‘x o‘F Sde A8 KL"‘” = Qngtszx ea. Tuc

Aol D
A A

h 2 ok Cos C
c = &+ b —
¢ = (3% ol 10435) <+ (¥ ‘») o Zx?'t.,xB?-Ouo«JS'xfoam

- G963 8 NF 663
3l-0F §5910l

=31 ™ [3515)

p
1)

(Total for Question 20 is 5 marks)

TOTAL FOR PAPER IS 80 MARKS
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